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SN MEBASAD
A MOSAS LS
gel: ZHEE (el &)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
04 JIZtHIZ22XNSE S 17,416 8,026 9,390
OsdE 22 T 29 17,416
[OPIE=r=; 41,680+ 18 x253! 10,546
Os2d=22s4 41,6803 x150%*1H 44! 2,751
Osssdsed 41,6803 13 %44 1,834
[OF ===l E-g=, 41,6802 x1H x10 417
OsEsg =2 15,548,000 *3. 1% 482
onggs=s 15,548,000 *1.4% 218
O=20dZ2Es = 15,548, 000& *4 . 5% 700
O=0AHUEE2 15,548,000 *2 . 82% 439
OMIAESE = 439,000& *6.55% 29
201 Lt 2| 10,000 10,000 0
03 SHAI2 G HI 10,000 10,000 0
OMHEASH=EE 5,000,000& *23| 10,000
206 T 2 bl 5,000 0 5,000
01 X2 H| 5,000 0 5,000
ONMEMZ Y 5,000
MHSIASHARS =4 4,000 4,600 A 600
301 AP B A 4,000 2,100 1,900
09 HAIAHIBEAZ 4,000 2,100 1,900
OH&ESG L HAXAS &I B4
10,000& =100 43| 4,000
TEHA=HES 3 798,214 2,088,888 N 1,290,674
= 141,366
& 108,574
= 548,274
SAXNSHAS AT ZH AL (KA 352,000 737,000 A 385,000
307 2iz2to| A 12,000 12,000 0
02 It A X2 12,000 12,000 0
OEHREASHHUI AIRZ2 2R
1,000,000 x12& 12,000
401 A EHI L 2O 340,000 665,000 325,000
01 Al&H| 340,000 650,000 A 310,000
O27|0t2 NEAHAAIE EXOMLH S
340,000,000 x14! 340,000
ME =S AIBESX =4 80,000 159,374 NT9,374
= 40,000
= 40,000
402 RI2H X201 M 80,000 159,374 NT9,374
= 40,000
= 40,000
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N
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2N MYBASAD
M MHBASABHS
ol MBS B SEREED)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
01 RIZERt2EX 80,000 159,374 AT9,374
OMEH = AMHEEX dA 80,000
< 40,000
s 40,000
HEZ=sHEFEN B2 4,800 2,880 1,920
= 960
= 3,840
201 Let24dy] 4,800 2,880 1,920
< 960
s 3,840
01 At 22/l 4,800 2,880 1,920
orE3d=d 8,000& *50H x 124 & 4,800
< 960
i 3,840
AN ¥EHLE 8,000 16,000 A 8,000
= 4,000
s 4,000
201 Le-2dH| 8,000 16,000 A 8,000
= 4,000
s 4,000
01 At 2t 2l 8,000 16,000 A 8,000
CEEET-
00,000 *40H 2 8,000
= 4,000
fia 4,000
=dl&=E SAU XA 293,414 393,544 A 100,130
= 117,366
< 52,814
s 123,234
402 RI2FX=201 M 293,414 393,544 A 100,130
= 117,366
< 52,814
fia 123,234
02 RIZHCHEH AR H 293,414 393,544 A 100,130
OsHIAE 3 293,414
= 117,366
< 52,814
[ia 123,234
BAsAM XA 60,000 0 60,000
= 24,000
< 10,800
[ 25,200
307 21201 A 60,000 0 60,000
= 24,000
< 10,800
e 25,200
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SN MYEESAD
MY MYS=uas
Sl MTEHASY JIUALEE (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
MISF =S JIBAIEES 11,840 61,840 A 50,000
MBI ZEAMI K& 11,840 21,840 A 10,000
307 gl2tol & 11,840 21,840 210,000
02 RIZHENEXS 11,840 21,840 A 10,000
OMIPEA=Y ZELML X
4,000& *3, 70004 *80% 11,840
MAPSF=HO wE Y J=8E 706,152 331,419 374,733
= 153,000
s 553,152
MHS A=A O 205,779 208,044 A2,265
MASA=H AHE X 29 38,650 39,000 A 350
201 Let2d] 23,650 24,000 A 350
01 At 2teltl 14,650 15,000 A 350
OMYIASHNME 29 13,000
ONMME 28 85 72 50,0003 *50E 44 10,000
O3 MAHH X 300,000& 102 3,000
OXME2ED =7 FHl UL (2401)
550,000& 3 1,650
02 3323l 9,000 9,000 0
Ot MALH JISE LPG 7
2,000 *30kg 150 9,000
206 M= Hl 15,000 15,000 0
01 =8l 15,000 15,000 0
s2ddis ZM AN 2
7,000& *3&+500kg 10,500
OFATM MEE E0H 7 &
15,000 x20& * 154 4,500
SIS HAN ML Y ASAIE 158,129 160,044 A 1,915
101 @124l 38,869 38,869 0
M4 I12HHZ22NSES 38,869 38,869 0
OMHSASAIM HM=E 2 34,810
OoeY 58,800 »2% x210 24,696
ORrssgs% 58,800 «2H 432 5,057
Oxgzefs¥ 58,8003 *150%*2H x22 3,881
ORSsIt=g 58,800 «2H 10 1,176
o4tEg = 4,059
O30 RES 34,810,000& *4.5% 1,567
OMTHEE S 34,810,000& *3. 1% 1,080
(@FNE=30= K= 34,810,000& *1.3% 453
OFak= k= 1= 34,810,000& *2.665% 928
OgdEd=z 928,000& *3.275% 31




SN MEBASAD
M MusAsYol DS L IS
SOl MYBHSAR N CEEEED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
201 fEt2E | 43,260 45,175 A1,915
01 AtR 2t 2l Hl 43,260 45,175 A 1,915
CdTSISLTMN M= 43,260
ooy =25l 62,0008 *380= 23,560
OZE MHAHI(24D1) 550,000& »4& 2,200
OZE 2SH(EZEH) 8,000& 1,625 13,000
Og&totel (804 ) 100, 000& =254 2,500
O+ & =374 10,000& 205 10K 2,000
206 M =4l 76,000 76,000 0
01 = dl 76,000 76,000 0
OMPAHTASANM MEE D127
150,000& *380= 57,000
ous -4 UM 7 19,000
Oddl=5 M& 12,0003 500k g*22] 12,000
Oty 2N M= 7,000& *1,000kg* 12l 7,000
HdYSIsHNMAESE =4 9,000 9,000 0
201 fEt2E | 5,000 5,000 0
01 At 22l bl 5,000 5,000 0
OdTIsLNMNA=ZE 28 22437 7
= 50,000& *10Z =104 5,000
206 M =8l 4,000 4,000 0
01 M=l 4,000 4,000 0
OMZBA=ANWASE 2AE 7
40,0002 *10Z =104 4,000
ATRNY s =E ASAE 500,373 123,375 376,998
Z 153,000
[a 347,373
dTedse H ASANERE 2 40,983 32,086 8,897
101 124 4] 30,483 21,586 8,897
04 JIZAtNZ22XNSE* 30,483 21,586 8,897
ASAgE2e U2Y 30,483
oJza 41,6803 2 #210& 17,506
Oxg2? 41,6803 x2E »150%*43 5,377
ORa8sd=+¥ 41,680 «2H 432 3,585
Ooaxtrs+¢ 41,6803 «2H 10L& 834
OtHESE 27,302,000& *2.7% 738
OLEEEE 27,302,000& x1.3% 355
O=d=sE8g 27,302,000& *4.5% 1,229
O=xgALEE = 27,302,000 »2.95% 806
OFJeL=EER 806,000& *6.55% 53
201 Yer2 | 8,000 9,000 A1,000




2N
X ZH -
L= B

el

SN HH-S(BN) - MBAY - B il HlnE2
01 At 22l 6,000 6,000 0
OH ASANEEL 29 6,000
OHZEMZ 200,000 x54! 1,000
OHREINAN 6,000& x2& *250F 3,000
O=sJI ALYt 500,000 *43| 2,000
03 A2 Z Hl 2,000 3,000 A 1,000
O%AlEl & &It 2,000, 000& =13 2,000
206 2 2,500 0 2,500
01 M= bl 2,500 0 2,500
O&d & X 500,000& 53 2,500
HAXMOIE Eolls SHAL 8,000 7,500 500
201 2Bt | 3,000 3,000 0
01 At 22l 3,000 3,000 0
oOdgois+ 25 200,000 *3& *53] 3,000
207 Ao & H| 1,000 1,500 A 500
03 A& &34l 1,000 1,500 A 500
OBz ASAE HS
100,000& x5 *23| 1,000
301 LEtE A= 2,000 3,000 A 1,000
11IIEEAS 2,000 3,000 A 1,000
OMZEME sHEIZH 500,000 43 2,000
405 TtakF S| 2,000 0 2,000
01 AL EFH S 2,000 0 2,000
COYMEZRIIA 15 500,000& 4% 2,000
Noisel ASH2 HY o Reles 29 114,247 45,494 68,753
101 14 Hl 36,747 24,294 12,453
M4 II2HHZ22NSES 36,747 24,294 12,453
ORcl24 & iS22 (H202) 21,503
OJlzs 58,8003 1210 12,348
oFg== 58,8003 12 »150%*43 3,793
Orssgds¥ 58,8003 1% 432 2,529
Odxtsa=¢ 58,8003 1«10 588
OdMMMEE = 19,258,000& *2.7% 520
CnE:2Ez 19,258,000& *1.3% 251
O=zd3EE= 19,258,000& x4 . 5% 867
OI0HLEEE 19,258,000& *2.95% 569
OFILEER 569, 000& *6.55% 38
OASHSIHEAR 15,244
OJles 41,6803 1210 8,753
Oxg=2? 41,6803 *150%+*1H 43 2,689
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SN MEBASAD
M MusAsYol DS L IS
el MM S2IlEEE ASAY CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ORsSsg=d 41,6803 «1H 43 1,793
Odxtsa=¢ 41,6803 110 417
OdMMEE = 13,652,000& *2.7% 369
(@JE=30=: = 13,652,000& *1.3% 178
ORI EEE 13,652,000& x4 . 5% 615
OI0HLEEE 13,652,000 *2.95% 403
OFIQYEEE 403,000& x6.55% 27
201 L2l 57,000 18,000 39,000
01 At 22l 6,000 0 6,000
OASHSHEHT & Rel24 6,000
O=24H372Y 100,000& *5% x63| 3,000
O= XXt 1,000, 000& *34 & 3,000
02 3323l 51,000 18,000 33,000
Owcl=24a 2l 51,000
O24admFHl 1,800& *5,0004 *5& 45,000
OANEHUHRAE > 1,500,000& x4 3] 6,000
206 M= Hl 15,500 1,200 14,300
01 =8l 15,500 1,200 14,300
o=42d M=l 15,500
088 ¥ sX 5,000& *56& 500 12,500
O o Hf X 3,000& *1,0000H 3,000
207 A RO H| 5,000 2,000 3,000
03 A& & 2 Hl 5,000 2,000 3,000
OALASH=HA 100,000& x10& x53] 5,000
MAESZ=H A28 29 31,143 18,295 12,848
101 1A dl 12,243 10,795 1,448
M4 JI2ZHZEXNSES 12,243 10,795 1,448
O 2Y 2R 12,243
OPIE--= 41,6802 *1E »210 8,753
ORSsg=d 41,6803 «1H 43 1,793
Ogtre=¢ 41,6803 110 417
OttEdg = 10,963, 000& *2. 7% 297
CnE:28s 10,963,000& *1.3% 143
O=0gaEExz 10,963,000& *4.5% 494
O=0HAEE=Z 10,963,000& *2.95% 324
OFIILEBER 324,000& x6.55% 22
201 Let24d] 10,900 3,500 7,400
01 At 2teltl 8,500 2,000 6,500
oA 2dY 8,500
ocaEgsdH37Y 200,000 x2& *53] 2,000

_8_




2N
X ZH -
L= B

el

gedsgi
HEd=go s ¢ Jis
THY SII=E ASA

SN BB (HA) - MM - BES il HREZ
OA2E1AM 15,000& 100 1,500
O M7l 50,0003 *4Z *52] 1,000
oag= 50,0002 x2&+5H 500
O4d+=+2 50,000& =302 1,500
OEEZEE M= 1,000& *2,000% 2,000
02 2324gHl 2,400 1,500 900
o974 FUSX ¥ HIISXa 2,400
O&HlI=X bl 1,000, 000& 23| 2,000
OHJI=Hdel 20,000& »203l 400
207 & 00 & H| 8,000 4,000 4,000
03 A&l & 224l 8,000 4,000 4,000
OFATM & =X7E 8,000
OAS & =X+ 500,000& *2E *6 2 6,000
O& A 50,000& *20& »22] 2,000
EXNEZH X& 306,000 0 306,000
& 163,000
= 163,000
405 TtobH S| 306,000 0 306,000
& 163,000
= 163,000
01 AL EZFH S 306,000 0 306,000
O=sZEXNT&H 7 306,000
OGC/MS 200,000,000& » 14 200,000
& 100,000
= 100,000
ozsdnlZ 60,000, 000& * 14! 60,000
= 30,000
[ia 30,000
OZ22LI3t2H 20,000,000 * 14! 20,000
& 10,000
= 10,000
O=AZM7] 16,000, 0003 * 1Al 16,000
& 8,000
[ia 8,000
Ot DI 10,000,000& » 14 10,000
& 5,000
= 5,000
MY (HEESZE s 1) 133,555 209,705 AT6,150
JH(MYSHF =) 133,555 209,705 AT6,150
=8 FH 3,000 3,000 0
203 ¥R =&l 3,000 3,000 0
04 EA2IYRFLH| 3,000 3,000 0
ORN2IEYRZ=AHI 250,000& 128 3,000
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